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XW(Q) = {0,1}, XP(Q) = {0,1}, X®(Q) = {0,1},
X®(Q) = {0,1}
oooo MW ={}000000000000000000
1. 7® ={}: =5, =5, n=10,

5 5 1
(2) mno_ 2\ i _
L T{H(x™) 5log <10> 5log <10> + > log 10 = 11.661

2. 7@ ={1}: oo =14, clo=1, np =5,
c,1=0, a1=5, nn=5,

LO1H (")

4 4 0 5 2
= —4log <5> —1log <5> — Olog <5> —5log <5> + 5 log 10

= 4.932
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1. 78 ={}: =5, aa =5, n=10,

L") = ~5log 15 ) ~5tog (55 ) + 3 log 10 = 11661

2. 7T(3) = {1}: €0,0 = 2, €10 = 3, ng = 5, €,1 = 3,
a,1=2, np=25,

LO[{1}](x") = —2log (?) — 3log (?) — 3log (?)
—2log <§> + % log 10 = 13.032

3. 7T(3) = {2}: €00 = 2, €10 = 2, np = 4,
€,1 = 3, 1= 3, n = 6,

LO[2}](x") = —2log <i) —2log <i) + —3log (2)

3 2
— 3log (6) + 5 log 10 = 13.322
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